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NHETKEEETEFINIRXRZNDN)GEAKR28) No. 1
T H B B I ¥} E b
EREEH (EEHY)
T A m?
(&
#4 BH0.08m3 m?® 420(418.09+2.61+0.00+0.00+0.00= 420.70
#4 BHO0.13m3 m?® 110/108.71+0.00+0.00+0.00+0.00= 108.71
#4 BH0.28m3 m?® 650(646.27+0.00+0.00+0.00+0.00= 646.27
¥ BH0.45m3 m?>
EWRIEHI (EELL)
AAB m®
#4 BH0.08m3 m°>
## BHO.13m3 m?®
#4 BHO0.28m3 m® 20(19.85+0.00+0.00+0.00+0.00= 19.85
#4 BHO0.45m3 m?®
7351
m? 490(487.92+1.64+0.00+0.00+0.00= 489.56
ERER(HERL)
AAD m®
282.34+1.61+0.00+0.00+0.00+
#4 BH0.08m3 m® 280(0.00+0.00+0.00+0.00+0.00= 283.95
81.77+0.00+0.00+0.00+0.00+
#i BHO0.13m3 m?® 80/0.00+0.00+0.00+0.00+0.00= 81.77
536.05+0.00+0.00+0.00+0.00+
#4 BHO0.28m3 m°> 540(0.00+0.00+0.00+0.00+0.00= 536.05
#4 BHO0.45m3 m?®
EREBEBER(GRLT)
AN m®
#4 BH0.08m3 m?® 70|72.70+0.54+0.00+0.00+0.00= 73.24
## BHO.13m3 m° 10{14.59+0.00+0.00+0.00+0.00= 1459
#4 BHO0.28m3 m?® 70|70.66+0.00+0.00+0.00+0.00= 70.66
|t m?® 160|73.24+14.59+70.66= 158.49
EREREBR(HARREL)
AAD m*
¥ BH0.08m3 m°
## BHO0.13m3 m°>
## BH0.28m3 m?®
=111 m®
Btang
AAB m*
#4 BH0.08m3 m°> 420(418.09+2.61+0.00+0.00+0.00= 420.70
## BHO.13m3 m?® 110/108.71+0.00+0.00+0.00+0.00= 108.71
¥ BH0.28m3 m?® 670(666.12+0.00+0.00+0.00+0.00= 666.12
=118 m? 1200/420.70+108.71+666.12= 1195.53
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NHETKEEETEFINIRXRZNDN)GEAKR28) No. 2
I = # B B ¥ B |
HHRIME (EEHY)
T T AN m?
(HfTE)
## BH0.08m3 m?®
## BHO0.13m3 m°>
## BHO0.28m3 m?®
¥ BH0.45m3 m?>
EIRIEHI (EELL)
AAB m?>
#H BH0.08m3 m°> 1011.471+0.000+0.000+0.000+0.000= 11.471
#i BHO0.13m3 m°> 3|3.396+0.000+0.000+0.000+0.000= 3.396
## BH0.28m3 m> 20/16.316+0.000+0.000+0.000+0.000= 16.316
#4 BHO0.45m3 m?®
KL
m? 29|28.73+0.00+0.00+0.00+0.00= 28.73
ERER(BLEL)
AAD m?
¥4 BH0.08m3 m>
#4 BHO.13m3 m?®
¥ BH0.28m3 m°>
#4 BHO0.45m3 m?®
ERER(HRT)
AN m°
#i BH0.08m3 m?> 6/6.136+0.000+0.000+0.000+0.000= 6.136
¥4 BHO0.13m3 m° 2|1.755+0.000+0.000+0.000+0.000= 1.755
# BH0.28m3 m°> 9|8.541+0.000+0.000+0.000+0.000= 8.541
#H BH0.45m3 m?®
ERER (HAXB L)
AAD m?>
.U8m m ; +0. +0. +0. +0. = .
4 BH0.08m3 8 3|3.079+0.000+0.000+0.000+0.000 3.079
#H BHO0.13m3 m°> 0.9/0.947+0.000+0.000+0.000+0.000= 0.947
¥4 BH0.28m3 m°> 4 |4.489+0.000+0.000+0.000+0.000= 4.489
# BH0.45m3 m?3
Bias
AAB m?>
#H BH0.08m3 m°> 10(11.471+0.000+0.000+0.000+0.000= 11.471
#i BHO0.13m3 m°> 3|3.396+0.000+0.000+0.000+0.000= 3.396
#H BH0.28m3 m°> 20/16.316+0.000+0.000+0.000+0.000= 16.316
#4# BH0.45m3 m?
&t m°> 30|11.471+3.396+16.316+0.000+0.000= 31.183
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NHTKEFEETEFRIXRZDGEAKR2H) No. 3
T 2 1 = B I ¥} E i
T R I LRBER m 576/573.60+2.10+0.00+0.00+0.00= 575.70
(&)
BEgT-7 m 559556.87+2.10+0.00+0.00+0.00= 558.97
PRP ¢ 150mm
BRER m 576|573.60+2.10+0.00+0.00+0.00= 575.70
IRERIER m 559|559.20+2.10+0.00+0.00-2.34= 558.96
TKEAZBEBI—H— & 6
JITRUK (HE)
PRP® 150mm 5° A_JF ol
PRP @ 150mm 10° RUK #H
PRP @ 150mm 22 1/2° RUK ol
SR E L=0.26m/{A
DIXEEE#T ¢ 150mm i 9
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NHETKEEFEESETEGFRIRZDDGEK2H) No. 4
I & 1 B B I ¥} E i
MHET T EVU @ 100mm Hrr 34|34+0+0+0+0= 34
L, &R 34+0+0+0+0
FZ2EE ¢ 100mm, L=4.0m X 44| +L,EB +10+0+0+0+0= 44
L, &R 0+0+0+0+0
F25E%E ¢ 100mm, L0.8m X 15| +L,&B +15+0+0+0+0= 15
60° XE ARUBY7’
PRP @ 150mm X 100mm L 34|34+0+0+0+0= 34
30° BHE ¢ 100mm & 34 [FEICEL 34
B447°
75° BHEBHE @ 100mm 2 25|25+0+0+0+0= 25
1EKE+vvF @ 100mm & 4| EF T ERERTICEIL 34
BT EERER B 4| BT EREAICELC 34
BT —7 m 63(62.86+0.00+0.00+0.00+0.00= 62.86
BT
A347’° ST 9|9+0+0+0+0= 9
B447° 158 25|25+0+0+0+0= 25
C447° (AFLER)| &Fr
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<E#E>

NHTKEFEETEFRIXRZDGEAKR2H) No. 5
T & 1 B B i1 ¥} E i =
xRt 2
T 8 I HEIZE 20mUT AA m
143.80+2.10+0.00+0.00+0.00+
PREIE 20mLL T BHO0.08m3 m 289(143.40+0.00+0.00+0.00+0.00+0.00= 289.30
HBEIZR 2.0mELF BHO0.13m3 m
PBHEIE 20mEL T BHO0.28m3 m
HEIE 20mLl T BHO0.45m3 m
xRt
PRBIZE 25mLL T AD m
IBEIZE 25mLL T BHO0.08m3 m
53.90+0.00+0.00+0.00+0.00+
HEEIZE 2.5mELF BH0.13m3 m 54(0.00+0.00+0.00+0.00+0.00+0.00= 53.90
HEIE 25mEl T BHO0.28m3 m
PEHIE 25mBl T BH0.45m3 m
xRt 8
PREIE 3.0mLL T AD m
HEEIZE 3.0mLLF BH0.08m3 m
#BEIZE 3.0mLEL T BHO0.13m3 m
39.80+0.00+0.00+0.00+0.00+
HEHIZE 3.0mLLF BH0.28m3 m 50/10.60+0.00+0.00+0.00+0.00+0.00= 50.40
#BEIZE 3.0mLL T BHO0.45m3 m
>
EHEIE 3.5mUT AS m
#BEIZE 3.5mLL T BHO0.08m3 m
PEHIE 3.5mEL T BHO0.13m3 m
159.20+0.00+0.00+0.00+0.00+
JREIZE 3.5mLLF BH0.28m3 m 159/0.00+0.00+0.00+0.00+0.00+0.00= 159.20
#BEIR 3.8mLLTF BH0.45m3 m
e
PREIZE 3.8mLLT AD m
JEEIR 3.8mLLF BH0.08m3 m
#BEIZE 3.8mLL T BHO0.13m3 m
#BEIR 3.8mLLF BH0.28m3 m
JEHEIZE 3.8mLl T BHO0.45m3 m
YT BRI 15 m 289(287.20+2.10+0.00+0.00+0.00+0.00= 289.30
2B% m 264/263.50+0.00+0.00+0.00+0.00+0.00= 263.50
3B m
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NHETKEFESEIEZGFRNIXZND)GEAKR2H) No. 1
I i& | B B sr ®E ] =
72.15+0.00+0.00+0.00+0.00
VBT As t=15cm m 1220|+1,147.20+4.20+0.00+0.00+0.00= 122355
As 15cm<t=30cm m
Co t=15cm m
As t=10cm
SHERERT AN m?2
7.80+0.00+0.00+0.00+0.00
¥# BHO0.13m3 +244.20+1.80+0.00+0.00+0.00
(BH0.08m3 %) +2.40+0.00+0.00+0.00+0.00
m? 550(48.50+0.00+0.00+0.00+0.00= 550.00
11.70+0.00+0.00+0.00+0.00
#H BHO0.28m3 m? 246|+233.80+0.00+0.00+0.00+0.00= 24550
¥# BH0.45m3 m?
As 10cm<t=15cm
A m?
#4 BHO0.13m3
(BH0.08m3%)
r‘nZ
#H# BH0.28m3 m?
## BHO0.45m3 m?
As 15cm<t=35cm
A m?
¥t BHO.13m3
(BH0.08m3%)
m2
## BH0.28m3 m?
¥ BHO0.45m3 m?
Co t=35cm
A m?
¥4 BHO0.13m3
(BH0.08m3 %)
m2
#4 BH0.28m3 m?
#H BH0.45m3 m?




HEIRERER <E#E>

NETKEEESESTSEFRIRZDNGEA2R) No. 2
I = i B B fr ¥ E ] =
T B4 El - T A E
BEHOET AR m°>
0.43+0.00+0.00+0.00+0.00
¥ BH0.08m3 m® 13[+12.30+0.10+0.00+0.00+0.00= 12.83
0.12+0.00+0.00+0.00+0.00
. BH0.13m3 m* 3|+2.40+0.00+0.00+0.00+0.00= 2.52
0.60+0.00+0.00+0.00+0.00
¥ BH0.28m3 m® 12(+11.80+0.00+0.00+0.00+0.00= 12.40
i BHO0.45m3 m®
TR R HI - T A E i
AR m®
# BH0.08m3 m®
B BHO.13m3 m®
B BH0.28m3 m®
¥4 BH0.45m3 m®
i (— %) 21.90+0.00+0.00+0.00+0.00
&% RET t=3cm m? 550|+526.50+1.80+0.00+0.00+0.00= 550.20
T E(Co)
t=3cm m?
s (1 - 28R
t=3cm m?
(1 -28R%)
t=3cm m?
t=0cm m?
E(—%) 21.90+0.00+0.00+0.00+0.00
&% MBI t=22cm m? 550(+526.50+1.80+0.00+0.00+0.00= 550.20
T 8(Co)
t=22cm m?
E (1 - 28R)
t=32cm m?
(1 - 28R
t=16cm m?

t=0cm m
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T & H =] H fu ¥ E H =
Ei#R (8)
RERHBE T W=15¢cm m 2 1.60
FikiR (B)
W=30cm m 6 9.55
FiE#R (B)
W=45cm m 2 2.10
EiR (37)
W=15cm m
IR (B)
W=45cm m
TFEXER (B)
W=15cmif & m
+FXER (B)
W=15cmii 5 m 13 12.60
XF (kFEHh-B)
W=15cmit & m 3 2.70
XF (30-%&)
W=15cmit & m
s (O)
W=15cmift & m
a5 (V)
W=15cmift & m
X¥F- 58 i m 16
XF (COEH—T) ol
AT —Y 53l
BT E#ERA(RC-40) t=100 m?2
18N/mm2
A= I(EE) m3

R EEET m2
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NHETKEFEETEFINIRZND)GEAK2H) BE No. 1
2 W 5] % Hi & E ] =
= - 2B [ZB ¢600, T-14 8 11] SRRk 5%
Z#, ¢$600, T—257 8 B &R AR
BT [45 h = 20~45mm & 4
69 h = 46~69mm & 7
BREYVY |5 ¢ 600 X 50 mm & 4
10 @ 600 %100 mm {& 4
15 @ 600 %150 mm {& 3
# B JOvs [30  ¢600x ¢ 900 x H300 & 2
45 ¢ 600X ¢ 900 X H450 {E 8
60 ¢ 600 X ¢ 900 X H600 & 1
E & Jnyy 30 $900 x H 300 & 2
60 $900 x H 600 {& 1
90 $900 x H 900 {& 2
120 $900 x H1200 &
150 $900 x H1500 {E
B & Javy |60 $900 x H 600 {&
90 $900 x H 900 {&
120 $ 900 x H1200 & 4
150 900 x H1500 {& 1
180 $900 X H1800 & 6
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No. 2
£ 5 o) % Hil & E ] =
E R 7095 | ¢1100 x H 130 {& 11
Bl A | PRP¢350mmfd 07l
PRP ¢ 250mmfd b3l
PRP ¢ 200mmJH B A
PRP ¢ 150mmJH R 17| WIRBHIFL SHEiFR
VU ¢ 100mmF 5070
T —IL#tF | PRP ¢ 250mmfH EAr
PRP ¢ 200mmJH & AR
PRP ¢ 150mmfH AR 27
VU ¢ 100mmFf 07
E # I |1:A4YN\—r+BEER EAr 11
2: REEROH R
3: AV IN—FDH BT
Wk=VTRY) [ IR ~30m B AR 9
#ft T
Yik—LiE 3.0~ 40m BEERr 2
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AHTKEESETEFNRIRZD)GEAK2E) EE

No.

& FF o) % Bl #E ]
£ - 28 | ZB, ¢600, T-14 %8 B R AL 5%
Z3, $600, T-25 #8 BnERh R
WEa< |45 h = 20~45mm &
69 h = 46~69mm &
HEEYVYT |5 ¢ 600 X 50 mm &
10 @ 600 X100 mm {&
15 @ 600 X 150 mm &
# B Jnvs | 30 ¢600Xx ¢900/600 x H300 &
45 ¢ 600 X ¢900/600 X H450 &
60 ¢ 600 X ¢ 900/600 X H600 &
E & Jovs |30 ¢900/600 x H 300 {&
60 $900/600 x H 600 &
90 $900/600 x H 900 &
8 & Jovy | 60 ¢ 900/600 X H 600 {&
90 ¢900/600 x H 900 &




HHTEAV-IRBELERR

AHTKEEELBFRIRZONCEK2H) EE No. 2
£ R o) # Bl #&E =
E R FOvY | $1100 x H 130 &
)| . | PRP ¢ 300mmf B AT
PRP ¢ 250mmff A
PRP ¢ 200mmff A
PRP ¢ 150mmff A
VU ¢ 100mmfH A
IR —IL#F | PRP ¢ 250mmH A
PRP ¢ 200mmff A
PRP ¢ 150mmff i1z
VU ¢ 100mmfH i1z
E # I |1:A42/—+BEER E:03i)
2: REEROH E:03i)
3: AV I\—FDH i1z
Wik-h7'0y) | IvE-LER ~20m B A
AT
Ih—=E 20~30m B A
IVh—AE 30~40m B A
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NHTKEEETE (FINIRXRZNI) GAA2H) BE No. 1
£ F o) # Hbl # B | =
= - 2B [zB 6600, T-14 8 B &R AR

Z%, $600, T-25 8 B &R AR
raT [45 h = 20~45mm &
69 h = 46~69mm i
BREYVY |5 ¢ 600 X 50 mm &
10 @ 600 x 100 mm {&
15 @ 600 x 150 mm {&
# 2 Jovy [12  ¢$900xH120 &
E & Jnvyy [30 $900 x H 300 &
60 $900 x H 600 {&
90 $900 x H 900 {&
120 $ 900 x H1200 &
150 $ 900 x H1500 {E
B # Jays | 60 $900 x H 600 &
90 $900 x H 900 {&
120 $ 900 x H1200 {E
150 $900 x H1500 {&
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NHETKEEETE (FRIRZFND) GBK2A) EE

No. 2
£ 5 o) % Hil & E ] =
E R 7OvyY | ¢1060 x H 90 &
Bl A | PRP¢350mmfd 07l
PRP ¢ 250mmH EAr
PRP ¢ 200mmJH B A
PRP ¢ 150mmfH AR 1) RIFHIFL 18R
VU ¢ 100mmF 5070
T —IL#tF | PRP ¢ 250mmfH EAr
PRP ¢ 200mmJH & AR
PRP ¢ 150mmfH AR 1
VU ¢ 100mmFf 07
E # I [1:A 1 —r+BaEMH 207l
2: REEROH R
3: AV IN—FDH BT
Wik-7'M) | VLR ~30m & AR
#ft T
IWih—WiE 30~ 40m AR




B 11 BHEE

EIRTI #=EEEE
NETKEEEIEGFRIRFONEK2B)<EE> — hE FHEHEEB)I1SEREHN

X IR shae EEERI | & BRER it
- ALES o .| o | 2P [EEE] B R EEEE | one| @ BRER n 5 W =
%i (5&“5‘\\%%) 'H:E T:)ll. J:;)i"i Z'Ztéj j=32] T E %ﬁ% ﬁl] Bﬁ%% Bﬁ%;ﬁ X%*ﬁgﬁblﬁ Eﬁ E iE iEE;;TE iEEmE igll- iEE (iﬁl}\) ﬁ ) _ .
% p ; ” =% & () (L) & mis = = T= = % Xiiﬁbtib‘%ii
= AR Ha= " 1 Hy= Vi=WskHgk | V,=WskH % L Hy=Hs~ Vs=Vi - DHE
L H, H, (H1+:|2)/2 t H34—t1 w 1 i 4 2 y 4 W, A=W, %L t, t, et :2‘t§ W,=W VA V=Vl (gy:i()j: =] VX [&V,~V,+0.9
2
T8 LAl m m m m m m m m® m® m m? m m m m m>/m m° m°
BEERE66-M2 [BH64-M1
64 {115 HHIIFEH 10600 | 2.846 | 2.814 2830 T8 0.28 0.05| 2.780 1.05 30.94 0.98 10.39 0.25| 0.356 HEL 2.224 1.05| 2.335 24.75 3094 | REFEE2
B64-M1 H64-M2
" B EH 3115 44800 | 1.905| 1.901 1.903| 1 & 0.08 0.05| 1.853 0.85 70.56 0.78 34.94 0.25| 0.356 HET 1.297 085| 1.102 4937 7056 | KBEFEE2
B 64-M2 B64-M3
" 15 15 52400 | 1.881| 1.754 1.818] 12§ 0.08 0.05| 1.768 0.85 78.75 0.78 40.87 0.25| 0.356 RwRT 1.212 0.85 | 1.030 53.97 78.75 | FKBEE?2
H64-M3 B 64-M3+6.10
H62 15 Al | 6.100 | 1.734| 1.726 1.730| 123 0.08 0.05| 1.680 0.85 8.71 0.78 476 0.25| 0.356 wEL 1.124 0.85 | 0.955 5.83 8.71 | XBFEE2
BEE%XE82-MT1 E81-M1
81 15 15 6.600 | 2.696 | 2.756 2.726 B 0.28 005| 2676 1.05 18.54 0.98 6.47 0.25| 0.356 BB+ 2.120 1.05| 2.226 14.69 1854 | 3 @EFE?2
H81-M1 B81-M2
" 15 #1585 53.700 | 1.618| 1.637 1.628] 123 0.08 005| 1578 0.85 72.03 0.78 41.89 0.25| 0.356 wEL 1.022 0.85| 0.869 46.67 7203 | XBEFEE2
B81-M2 B 81-M2+22.90
" #3115 p: 22900 | 1.489| 1.500 1.495| iR 0.28 0.05| 1.445 0.60 19.85 0.60 13.74 0.25| 0.356 WwRT 0.889 0.60 | 0533 12.21 19.85 | 3@EFE?2
B81-M2+22.90 |H81-M2+45.10
" p: I p: 22200 | 1.500| 1.524 1512 %28 0.08 0.05| 1.462 0.85 27.59 0.78 17.32 0.25| 0.356 HEL 0.906 0.85| 0.770 17.09 2759 | REFEE2
BEERE87-M1  |E86-MT
86 150y VR I FEM 5200 | 2552 | 2.606 2579 188 0.28 0.05| 2529 1.05 13.81 0.98 5.10 0.25| 0.356 BBt 1.973 1.05| 2072 10.77 13.81 RBEEE2
H86-M1 B 86-M2
" #HIFEM 15 22500 | 1.663| 1.846 1.755| T %28 0.08 0.05| 1.705 0.85 32.61 0.78 17.55 0.25| 0.356 HEL 1.149 0.85| 0977 21.98 32.61 RBEEEE2
B 86-M2 B 86-M2+46.20
" {15 Al = 46200 | 1.826 | 1.967 1.897| T8 0.08 0.05| 1.847 0.85 72.53 0.78 36.04 0.25| 0.356 BBt 1.291 0.85| 1.097 50.68 7253 | IFEEEE2
BEERXE97-M1  |EE95-MT
95 15 15 64.600 | 3.014 | 3.090 3.052| 122 0.28 0.05 | 3.002 1.05 203.63 0.98 63.31 0.25| 0.356 MRt 2.446 1.05| 2568 165.89 203.63 | 3@EEEE?
B95-M1 H95-M2
" 15 15 43700 | 3.070| 3.319 3.195| 122 0.28 0.05| 3.145 1.05 144.31 0.98 4283 0.25| 0.356 wEL 2.589 1.05| 2.718 118.78 14431 | Z@EHE?2
B95-M2 B93-1-M1
$93-1 15 $HI15 3500 | 3.299| 3.298 3.299| %23 0.28 0.05| 3.249 1.05 11.94 0.98 3.43 0.25| 0.356 Bt 2.693 1.05| 2828 9.90 11.94 | F@FE?
#93-1-M1 $92-M1
92 15 15 47400 | 3.278| 2.746 3012| 122 0.28 005 | 2962 1.05 147.42 0.98 46.45 0.25| 0.356 wEL 2.406 1.05| 2526 119.73 14742 | ZBFEE?2
B92-M1 B92-M2
" 15 15 28,000 | 2.726 | 2522 2624 22 0.28 005| 2574 1.05 75.68 0.98 27.44 0.25| 0.356 HEL 2.018 1.05| 2.119 59.33 75.68 | 3EFEE2
B92-M2 #92-M3
" H#HII15 #1585 53.900 | 2502 | 2.080 2291 122 0.13 005 | 2.241 0.90 108.71 0.83 4474 0.25| 0.356 wBEL 1.685 090 | 1517 81.77 108.71 | @ E?2
#93-1-M1 #93-1-M1+27.40
93 15 Al = 27400 | 1.772| 1.740 1.756| T %% 0.08 0.05| 1.706 0.85 39.73 0.78 21.37 0.25| 0.356 B = 1.150 0.85| 0.978 26.80 39.73 | KBFEE2
B 95-M2 B 95-M2+6.90
94 15 Al | 6.900 | 1.603| 1.602 1.603| 123 0.08 0.05| 1.553 0.85 9.11 0.78 5.38 0.25| 0.356 wBEL 0.997 0.85 | 0.847 5.84 9.11 | XBFE2
E92-M3 B 92-M3+5.00
EX) 15 p: It 5.000| 1.639| 1.504 1.572| 128 0.08 0.05| 1.522 0.85 6.47 0.78 3.90 0.25| 0.356 BET 0.966 0.85 | 0.821 4.11 6.47 | FBFEE2
AN AR
BH = BH
0.08 418.09 HIERIME 0.08 282.34 418.09
BH BH
= 0.13 108.71 BRI = 0.13 81.77 108.71
HEFERI M E BH RSt BH
0.28 19.85 646.27 T - ®BEL 0.28 536.05 666.12
BH BH
0.45 0.45
i 573.600 z 19.85 1173.07 487.92 i 900.16 1192.92
AN AA
BH = BH
0.08 418.09 RIEAINE 0.08 282.34 418.09
BH BH
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& e % T &t iz iz 2 | =g = = Vo= &,
= iz = o e He= ’ L HeHs | o | Ve Ve | vesv-v, <09
H wo | L RELE AL ARER Al Al H W W= L= L= | e | WiXHs | Wixle |t ts + . | HaXLy 9=V7~Vg=0.
4 A 1 1.5maEE |1 5milE n P P 5 1 Wx1/2 | Li-W, | LyXn 5 M XLy, 23 X W,
T4 LAl BH m ~ m vasil vasil Vil il m m m m m | m/4Fr] m m m m® m? m m m m° m’
W64 |BEEREH66-M2  |EH64-M1 2574 1.05
0.08 £ 135 1 1 1.014 1.214 1.114| 0600 | 0425| 0925| 0.925 0.05| 1.064| 0.591 0.56 0.25 0314 | HREL 0.550 | 0.305| 0.591
7 E64-M1 E64-M2 0.08 1.647| 085 |&| 1.40 1 1 1.014 1.214 1.114| 0600| 0425| 0975| 0.975 005| 1.064| 0.622 0.59 0.25 0314 | HEZT 0.550 | 0.322 | 0.622
0.08 | 135 3 3 1.014 1.214 1114 0600 0425| 0925| 2775 005| 1064]| 1.772 1.67 0.25 0314 | HBEL 0550 | 0916 | 1.772
" B 64-M2 H64-M3 0.08 1562| 0.85 |#&| 1.40 2 2 1.014 1.214 1114 0600 | 0425 0975 1.950 005| 1.064| 1.245 117 0.25 0314 | HRL 0.550 | 0.644 | 1.245
BH62 |EH64-M3 E64-M3+6.10 1.474| 0.85
81 BEEREE82-M1  |EE81-MT 2.470| 1.05
0.08 £ 198 1 1 1.014 1.475 1245 0600| 0425| 1555| 1555 005| 1.195| 1.115 0.93 0.25 0314 | HBEL 0.681 | 0.635| 1.115
7 E81-M1 E81-M2 0.08 1.372| 085 |&H| 1.44 3 3 1.014 1475 1245 0600| 0425| 1.015| 3.045 005| 1.195| 2.183 1.83 0.25 0314 | HBEL 0.681 | 1.244| 2.183
0.28 £ 198 2 2 1.014 1.342 1.178| 0600 0.300| 1.680| 3.360 005 | 1.128| 2274 2.02 0.25 0314 | HRL 0.614 | 1.238| 2274
" H81-M2 B81-M2+22.90 | 0.28 1.239| 060 |&| 1.44 2 2 1.014 1.342 1178/ 0600 | 0300 1.140| 2.280 005| 1.128| 1.543 1.37 0.25 0314 | HRL 0.614 | 0.840 | 1.543
0.08 £ 198 1 1 1.014 1.359 1.187| 0600| 0425| 1555| 1555 005| 1.137| 1.061 0.93 0.25 0314 | HBEL 0.623 | 0581 | 1.061
" B81-M2+22.90 |H81-M2+45.10 1.256| 0.85
86 BLERE87-M1 H86-M1 2.323| 1.05
" H86-M1 H86-M2 1.499| 0.85
0.08 £ 1.00 3 3 1.014 1.214 1114 0600 | 0425 0575 1.725 005| 1.064| 1.101 1.04 0.25 0314 | HRL 0.550 | 0.569 | 1.101
7 E86-M2 E86-M2+46.20 | 0.08 1641 085 |A| 2.09 1 1 1.014 1.214 1.114| 0600 | 0425| 1.665| 1.665 005| 1.064| 1.063 1.00 0.25 0314 | HBx 0.550 | 0.549 | 1.063
0.28 £ 160 1 1 1.014 1.214 1114 0600| 0525| 1.075| 1.075 005| 1.064| 0686 0.65 0.25 0314 | HBEL 0.550 | 0.355 | 0.686
95 |BREREE97-M1  |E95-M1 0.28 2796| 105 |&| 3.16 2 2 1.014 1.214 1.114| 0600 | 0525| 2635 5270 005 | 1.064| 3.364 3.16 0.25 0314 | HBEZL 0550 | 1.739 | 3.364
0.28 £ 160 2 2 1.014 1.214 1114 0600 | 0525 1.075| 2.150 005| 1.064| 1.373 1.29 0.25 0314 | SRt 0550 | 0.710 | 1.373
7 E95-M1 E95-M2 0.28 2939| 105 |4&| 3.16 1 1 1.014 1.214 1.114| 0600| 0525| 2635| 2635 005| 1.064| 1.682 1.58 0.25 0314 | HBEL 0.550 | 0.870 | 1.682
B93-1 |F95-M2 B93-1-M1 3.043| 1.05
0.28 £ 210 1 1 1.014 1.214 1114 0600| 0525| 1575| 1575 005| 1.064| 1.005 0.95 0.25 0314 | HRL 0.550 | 0.520 | 1.005
B92 |EH93-1-MT E92-M1 0.28 2.756| 105 |4&| 276 2 2 1.014 1214 1.114| 0600 | 0525| 2.235| 4.470 005| 1.064| 2854 2.68 0.25 0314 | HEL 0550 | 1.475| 2.854
7 E92-M1 E92-M2 0.28 2368| 105 |A&| 293 1 1 1.014 1.214 1.114| 0600 | 0525| 2.405| 2.405 005| 1.064| 1535 1.44 0.25 0314 | HBEZL 0550 | 0.794 | 1.535
0.13 £ 187 2 2 1.014 1.214 1.114| 0600 0450 | 1.420| 2840 005| 1.064| 1.813 1.70 0.25 0314 | HBEL 0.550 | 0.937| 1.813
7 E92-M2 E92-M3 0.13 2035 090 |&| 293 1 1 1.014 1.214 1.114| 0600 | 0450| 2.480| 2.480 005| 1.064| 1583 1.49 0.25 0314 | B 0.550 | 0.818| 1.583
0.08 | 155 1 1 1.014 1.214 1114 0600 0425| 1.125] 1.125 005| 1064| 0718 0.68 0.25 0314 | HBEL 0550 | 0.371| 0.718
93 #93-1-M1 B93-1-M1+27.40 1.500| 0.85
B94 |EH95-M2 E95-M2+6.90 1.347| 0.85
) 392-M3 E92-M3+5.00 1.316] 0.85
AN A7
BH - BH
I —_—
0.08 11.471 BRI 0.08 6.136 | 11.471
BH BH
. 0.13 3.396 BRtTE 0.13 1.755 | 3.396
I —N
miEsIRE BH FEE HAES BH
0.28 16.316 T BT 0.28 8.541 | 16.316
BH BH
0.45 0.45
i 9 25 34 i 31.183 | 28.73 E 16.432 | 31.183
AA A7
BH BH
B
0.08 11.471 AEAI AR 0.08 6.136 | 11.471
BH BH
e 0.13 3.396 HRtTE 0.13 1.755 | 3.396
k2
BEABE  —5, FEE AL BH
0.28 16.316 TR BT 0.28 8.541 | 16.316
BH BH
0.45 0.45
85t 9 25 34 5 31.183 | 28.73 it 16.432 | 31.183
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B91  |E92-M3+5.00 |E92-M3+7.10 1.255| 0.85
AR AA
BH - BH
0.08 BRI E 0.08
BH BH
. 0.13 HRt= 0.13
RiEAI R R BH B AL BH
0.28 TE - HBET 0.28
BH BH
0.45 0.45
AR AR
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2 w |L£| & ; BE L, L Ls= — AREE | ARES | AREE | ARER i & # 5
Yo || M R | AL | ARER| F B447° (L1+L2) (08m/Z&) | (4.0m/Z&K) | (0.8m/&) | (4.0m/Z) . (ABRAT) Vs Le=Ls V7=Vg*Le
& 1. 5mak i | 1.5m b AELHY-10m| X 4R b
T4 LAl m |~ m vabil YAyl Azl Al mm m/ 4 it m/ 4 Bt m m & & & & - & m’ m®/m m m?
64 |BEEEE66-M2  |EH64-M1 2574
& | 1.350 1 1 VU ¢ 100 1.350 0.265 1.615 1.350 1 1 PRP ¢ 150mm 1| ffIREL | 008 0.178 0.925 0.165
1" B 64-M1 H64-M2 1.647| & | 1.400 1 1 VU ¢ 100 1.400 0.265 1.665 1.400 1 1 PRP ¢ 150mm 1| #mickEL | 0.08 0.178 0.975 0.174
A | 1.350 3 3 VU ¢ 100 1.350 0.180 4.590 4.050 3 3 PRP ¢ 150mm 3| MAIXEL | 0.08 0.178 2.775 0.494
1" B 64-M2 H64-M3 1.562| & | 1.400 2 2 VU ¢ 100 1.400 0.180 3.160 2.800 2 2 PRP ¢ 150mm 2| #MBiKEL | 0.08 0.178 1.950 0.347
BH62 |H64-M3 H64-M3+6.10 1.474
B8l |B%EEEE82-M1  |EH81-MT 2.470
| 1.980 1 1 VU ¢ 100 1.980 1.980 1.980 1 PRP ¢ 150mm 1| #mickEL | 0.08 0.178 1.555 0.277
" E81-M1 B 81-M2 1.372| & | 1.440 3 3 VU ¢ 100 1.440 4.320 4.320 3 PRP ¢ 150mm 3| MBiXBEL | 0.08 0.178 3.045 0.542
| 1.980 2 2 VU ¢ 100 1.980 3.960 3.960 2 PRP ¢ 150mm 2 | HAIKBEL | 028 0.178 3.360 0.598
" B81-M2 B 81-M2+22.90 1.239| & | 1.440 2 2 VU ¢ 100 1.440 2.880 2.880 2 PRP ¢ 150mm 2 | fRIKBELE | 0.28 0.178 2.280 0.406
A | 1.980 1 1 VU ¢ 100 1.980 1.980 1.980 1 PRP ¢ 150mm 1| #mickEL | 0.08 0.178 1.555 0.277
" E81-M2+22.90 |H81-M2+45.10 1.256
86 |BEEEES87-M1  |BH86-MI1 2.323
" E86-M1 H86-M2 1.499
Z | 1.000 3 3 VU ¢ 100 1.000 0.259 3.777 3.000 3 3 PRP ¢ 150mm 3| MAIXEL | 0.08 0.178 1.725 0.307
" E86-M2 B 86-M2+46.20 1.641| /5 | 2.090 1 1 VU ¢ 100 2.090 0.259 2.349 2.090 1 1 PRP ¢ 150mm 1| #fikEx | 008 0.178 1.665 0.296
A | 1.600 1 1 VU ¢ 100 1.600 1.414 3.014 1.600 1 1 |PRP ¢ 150mm 1| ffIREL | 028 0.178 1.075 0.191
o5 |BEEEE97-M1  |BH95-MI1 2.796| &5 | 3.160 2 2 VU ¢ 100 3.160 1.414 9.148 6.320 2 2 [PRP ¢ 150mm 2 | #pickERt | 028 0.178 5.270 0.938
Z | 1.600 2 2 VU@ 100 1.600 1.557 6.314 3.200 2 2 [PRP ¢ 150mm 2 | fRIKBEL | 0.28 0.178 2.150 0.383
" B95-M1 H95-M2 2.939| & | 3.160 1 1 VU ¢ 100 3.160 1.557 4717 3.160 1 1 [PRP ¢ 150mm 1| #mickE+E | 0.28 0.178 2.635 0.469
B93-1  [E95-M2 B 93-1-M1 3.043
£ | 2.100 1 1 VU ¢ 100 2.100 1.374 3.474 2.100 1 1 [PRP ¢ 150mm 1| fAIREL | 028 0.178 1.575 0.280
B92  |E93-1-M1 H92-M1 2.756| &5 | 2.760 2 2 VU ¢ 100 2.760 1.374 8.268 5.520 2 2 |PRP ¢ 150mm 2 | HARikBL | 0.28 0.178 4.470 0.796
" B92-M1 B 92-M2 2.368| & | 2.930 1 1 VU ¢ 100 2.930 0.986 3.916 2.930 1 1 [PRP ¢ 150mm 1| fkiRE+ | 028 0.178 2.405 0.428
| 1.870 2 2 VU ¢ 100 1.870 0.653 5.046 3.740 2 2 PRP ¢ 150mm 2| #RKEL | 013 0.178 2.840 0.506
" B 92-M2 F92-M3 2.035| & | 2.930 1 1 VU ¢ 100 2.930 0.653 3.583 2.930 1 1 PRP ¢ 150mm 1| #nickBEL | 013 0.178 2.480 0.441
| 1.550 1 1 VU ¢ 100 1.550 0.118 1.668 1.550 1 1 PRP ¢ 150mm 1| ¥sikBL | 0.08 0.178 1.125 0.200
F93 H93-1-M1 H93-1-M1+27.40 1.500
B94  |E95-M2 BH95-M2+6.90 1.347
o1 B92-M3 B192-M3+5.00 1.316
PRP ¢ 150mm
x ¢ 100 34 AA
BH
0.08 3.079
BH
0.13 0.947
BH
0.28 4.489
BH
0.45
H 9 25 34 81.42 62.86 34 15 10 g 8.515
PRP ¢ 150mm
X ¢ 100 34 AA
BH
0.08 3.079
BH
0.13 0.947
BH
0.28 4.489
BH
0.45
&t 9 25 34 81.42 62.86 34 15 10 it 8.515
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PRP ¢ 150mm
X ¢ 100 AB

BH
0.08

BH
0.13

BH
0.28

BH
0.45

B 2]

PRP ¢ 150mm
X @100 34 AR

BH
0.08 3.079

BH
0.13 0.947

BH
0.28 4.489

BH
0.45

op
[onf
—+
©

25 34 81.42 62.86 34 15 10 it 8.515

|




% 7-1 BitEE

AHTKEEETEGFRIRZONGER2E)<EE> — hE FHEBEA)I1SEIEH

BT ESET

*

HEHEE

1 SHE B RHEL =/ REmEL miEL BE L2
o ft| B AERE bl YT f SRR T MEEE | ow | ow | T molm | | 3 -
= : 5| B | &% & s i & i (IR &h%E) | @ = | @ = £ 2 it
Eﬁ ?E *E JE =t e e =r sl = J—'J_= *J: — ~ ~ ‘:'f,
!fi :,EJ] & % = ﬁ” ﬁ” Il:t% ﬁ'i] =) ﬁr :]:E ﬁll mEEI *g ‘a;,_t% 1 ’7'Fﬁ' é n+ e ”"ﬂ — — 1 — — 1 1 Iél“ ?E
% IR = *% E $E - ﬁ % X 1/2 = EE E EE ﬁ[J —_ C . —_ C . . ﬁ'] ﬁ%:
|-|1 D En 2 = all] 2 o} 2 2 &
= iE R -:E : FERR & £ As As Co = As As As Co *EE | maE A% o @ g o @ @ i E
" it L A W,= W3 L= - 15cm<t W 10cm<t|15ecm<t ~ ~ - ~ ~ - - B &
[A] ! WX1/2 L=Wy=W, t=15cm| =30cm|t=20cm ' 1t=10em| £156m| £356m|t=35cm 0.03 0.03 0.03 0.22 0.22 0.32 0.16 1 i
T4l bt il m ~ m avil m m m/ 4 B m m m m m m m> m> m> m> m m m> m> m> m> m> m> m> m’ m?®
W64 |BEEREE66-M2 [E64-M1 1.05 HE(—g)
0.08 | 135 1 0.425 0.925 | 0.925 0.05 1.85 0.600 0.6 0.03 0.22 0.6 0.6 0.03
7 EH64-MT H64-M2 0.08 0.85 HE(—#%) A| 1.40 1 0.425| 0500| 0475| 0475 0.05 0.95 0.600 0.3 0.03 0.22 0.3 0.3 0.02
0.08 | 1.35 3 0.425 0.925| 2.775 0.05 5.55 0.600 1.7 0.03 0.22 1.7 1.7 0.09
" B 64-M2 H64-M3 0.08 0.85 HE(—§%) A| 1.40 2 0425 | 0500| 0475| 0.950 0.05 1.90 0.600 0.6 0.03 0.22 0.6 0.6 0.03
62 |E64-M3 B64-M3+6.10 0.85 i (—#%)
81 |BEEEEEe2-M1  [EE81-M1 1.05 mE(—fA%)
0.08 | 198 1 0425 | 0410 1.145| 1.145 0.05 2.29 0.600 0.7 0.03 0.22 0.7 0.7 0.04
7 E81-MT BH81-M2 0.08 0.85 HE(—#%) | 144 3 0425 | 0420 0595| 1.785 0.05 3.57 0.600 1.1 0.03 0.22 1.1 1.1 0.06
0.28 | 198 2 0300 0410 1270 2540 0.05 5.08 0.600 15 0.03 0.22 15 15 0.08
" H81-M2 E81-M2+22.90 | 0.28 0.60 i E(—A%) A| 144 2 0.300 | 0420 0720| 1.440 0.05 2.88 0.600 0.9 0.03 0.22 0.9 0.9 0.05
0.08 | 198 1 0425 | 0410 1.145| 1.145 0.05 2.29 0.600 0.7 0.03 0.22 0.7 0.7 0.04
" B81-M2+22.90 [E81-M2+45.10 0.85 B (—A%)
B86 |BEERE87-M1  [E86-M1 1.05 mE(—#%)
" E86-MT H86-M2 0.85 B (—A%)
0.08 | 1.00 3 0425 | 0200 0375| 1.125 0.05 2.25 0.600 0.7 0.03 0.22 0.7 0.7 0.04
7 E86-M2 E86-M2+46.20 | 0.08 0.85 HE(—A%) A 209 1 0425 | 0440 1.225| 1.225 0.05 2.45 0.600 0.7 0.03 0.22 0.7 0.7 0.04
0.28 | 160 1 0525 | 0430 0645| 0645 0.05 1.29 0.600 0.4 0.03 0.22 0.4 0.4 0.02
95 [BEERE97-M1  |E95-M1 0.28 1.05 hE(— %) | 3.16 2 0525 | 0.380| 2255| 4510 0.05 9.02 0.600 2.7 0.03 0.22 2.7 2.7 0.14
0.28 | 160 2 0525 | 0430 0645| 1.290 0.05 2.58 0.600 0.8 0.03 0.22 0.8 0.8 0.04
7 E95-MT E95-M2 0.28 1.05 HE(—#%) | 3.16 1 0525 | 0380 | 2255| 2255 0.05 451 0.600 14 0.03 0.22 14 14 0.07
B93-1 |E95-M2 E93-1-M1 1.05 HhE(—#%)
0.28 | 210 1 0525 | 0550 1.025| 1.025 0.05 2.05 0.600 0.6 0.03 0.22 0.6 0.6 0.03
92 [E93-1-MT E92-MT 0.28 1.05 HE(—#%) | 276 2 0525| 0380 1.855| 3.710 0.05 7.42 0.600 2.2 0.03 0.22 2.2 2.2 0.11
" B92-MT1 $92-M2 0.28 1.05 HE(—§%) A| 293 1 0525| 0430| 1975| 1.975 0.05 3.95 0.600 1.2 0.03 0.22 1.2 1.2 0.06
0.13 | 1.87 2 0450 | 0440 | 0980 | 1.960 0.05 3.92 0.600 1.2 0.03 0.22 1.2 1.2 0.06
" B92-M2 #92-M3 0.13 0.90 HhE(—#%) | 293 1 0450 | 0430 2.050| 2.050 0.05 4.10 0.600 1.2 0.03 0.22 1.2 1.2 0.06
0.08 | 155 1 0.425 1125 1.125 0.05 2.25 0.600 0.7 0.03 0.22 0.7 0.7 0.04
93 B93-1-M1 H93-1-M1+27.40 0.85 HE(—i%)
B94 |H95-M2 H95-M2+6.90 0.85 HhE(—#%)
H91 $92-M3 #92-M3+5.00 0.85 B (—#%)
AN AN
BH BH
0.08 7.8 0.08 7.8 7.8 0.43
BH BH
" 0.13 2.4 0.13 2.4 2.4 0.12
3=
HIERHE o Bh
0.28 11.7 0.28 11.7 11.7 0.60
BH BH
0.45 0.45
g 72.15 i 21.9 B 21.9 21.9 1.15
AN AN
BH BH
0.08 7.8 0.08 7.8 7.8 0.43
BH BH
N 0.13 2.4 0.13 2.4 2.4 0.12
%=
HEIERI S E oH oH
0.28 1.7 0.28 1.7 1.7 0.60
BH BH
0.45 0.45
=118 72.15 &t 21.9 &t 21.9 21.9 1.15
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" B91-M1 H91-M2 1.511| & | 1.030 1 1 VU ¢ 100 1.030 0.129 1.159 1.030 1 1 PRP ¢ 150mm 1| ffikEx | 008 0.178 0.605 0.108
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62 0.85
81 0.85 0.20
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